
 

                                                                                                                                                  



 

 

  

  

  

  

  

  

  

  

  



 
  

 
  

 

On the page after the wheel template you will find your challenge – can you use the 

Caesar Shift Wheel to crack the code and protect our ships? 

GOOD LUCK!!!! 

When you have solved it, try challenging the grown-ups. Write a sentence then put it 

into the code and give it them. Are they as good as you? 
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Make a Caesar Shift Wheel:

1)  Carefully cut out the two circles. Ask a grown up to help you if you need to.
2)  Place the Inner Wheel on top of the Outer Wheel so that the middles meet.
3)  Poke a small hole through the centre of both circles using a sharp pencil with some 
 blu-tak beneath.
4)  Push a split pin or other small object through the hole to secure the two circles 
 together, so the smaller circle can spin freely. Alternately, you can turn the wheel
 without doing this.

You can then use this wheel to solve Pam’s puzzles! 

Outer
Wheel

Inner
Wheel



1) Message from 1940 – Caesar Shift PLUS FOUR (+4) 
 

XLI YO LEW MRZEHIH MGIPERH WS XLI VEJ GER YWI MX 
EW E FEWI XS TVSXIGX WLMTW MR XLI GIRXVEP 

EXPERXMG 
 
 

_ _ _   _ _   _ _ _   _ _ _ _ _ _ _   _ _ _ _ _ _ _   _ _   _ _ _  
   

_ _ _   _ _ _   _ _ _   _ _   _ _   _   _ _ _ _   _ _   _ _ _ _ _ _ _ 
 

_ _ _ _ _   _ _   _ _ _   _ _ _ _ _ _ _   _ _ _ _ _ _ _ _ 
 
 

2) Message from 1941 – Caesar Shift PLUS SEVEN (+7) 
 

QVSSF NVVK ZOVD! OTZ IBSSKVN OHZ JHWABYLK 
H B-IVHA, PUJSBKPUN HU LUPNTH JVKL THJOPUL! 

 
 

_ _ _ _ _   _ _ _ _   _ _ _ _ !   _ _ _   _ _ _ _ _ _ _   _ _ _ 
 

_ _ _ _ _ _ _ _   _   _ - _ _ _ _ ,   _ _ _ _ _ _ _ _ _   _ _    
 

_ _ _ _ _ _   _ _ _ _   _ _ _ _ _ _ _ ! 



3) Message from 1945 – Caesar Shift MINUS EIGHT (-8) 

 

LZW OSJ AK GNWJ. 3,500 MC EWJUZSFL KZAHK OWJW 
KMFC, SFV 25% GX LZWAJ UJWOK OWJW CADDWV 

 

 

_ _ _   _ _ _   _ _   _ _ _ _.   3,500   _ _   _ _ _ _ _ _ _ _ 

 

_ _ _ _ _   _ _ _ _ _   _ _ _ _,   _ _ _   25%   _ _   _ _ _ _ _ 

 

_ _ _ _ _   _ _ _ _   _ _ _ _ _ _ 

 

 

 

 

 

Answers: 

 
1)  The UK has invaded Iceland so the RAF can use it as a base to protect ships in the 

central Atlantic. 

 

2) Jolly good show! HMS Bulldog has captured a U-Boat, including an Enigma Code 

Machine! 

 

3)  The war is over. 3,500 UK merchant ships were sunk, and 25% of their crews were 

killed. 


